The EA is based on the coincidence of  2 signals by 2 different indicators:
1)Swing
2)Divergence
Let’s see how they interact to trigger a SHORT trade.
Scenario 1:Swing and divergence appear in the same bar(very important:they must be confirmed at bar close before opening a trade):
[image: ]
Scenario 2:the Divergence signal appears one bar delayed compared to Swing signal:
[image: ]
This is a valid LONG signal.Please note that:
- The max allowed delay is one bar
- The delay concerns only Divergence;in other words,a one bar delay of Swing compared to Divergence IS NOT a valid signal.

That’all for the trading rules.Following the customizable settings:

- Nclose
- Innesco1
- Innesco2
- fast EMA
- slow EMA
- signal
-lot size
- SL
- TP
- BE
- Magic number
- Trading timetable
- Max slippage
- Max spread
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